
��������	��
������
��������������������� ���

��������	
������� ������	�
������
�������������������������
����������������������� ��������
����� ��

!"#�$%�$#&$'�$�&'��($��#$��)$'��!*
!+,�#"��&-$�&��$#",

.���/��
0�1�2�30���4�����4��2�5��� �+�
���1�2�3�
�
���6�����1�2�'�
�0�&��1�2�&��
��5�4�1�2�7��6�
�8���1�

�
0��
0������ 4���1�

�"
�������9�7� ���	�
�����,��6��92��"
�������9�7� ���	�
�����&
���
���)�0���
�2
, ����"
�������9�(�� ����2�, ���2��������

,"))�#:�;��<����	�����<�����09�=����������	�����<�� ������
����
0������������
�������������������

 ����
���� �����0��
�0���
6��<�����>������ ����0����"
�������9�7� ���	�
�����,��6��92�, ����"
�������9
(�� ������
�, �����&
��00����
2�0�����
��<�� ����
���6���
0���?2��9 ��������6����������	�
�2��
0��?����
��
�
0� �	 ������� ���4� ���������
�� �������������	��=�����
��9@�0��7�����
����� ����
���=��<��
���������
�������� ������0���� �<��7� ���	�
��0���
6� �<����9���� ����0�=���� ������ �������9��
��9@�0��!
���������
A��
0���� �����0������� ��0�	�
�
��9��������
6� ��	���� � ������
�B����C���� ����
��D2�	����9� �<�����6�0
������B��C���� ����
��D���<������<������=��<��<���0��<����<����������<��	������		�
�����������
���������
A��
0������<�������2� �<��	���� ���E��
��9����0� ����0���� �����
���������� A��
0���� ��� �<����9������	9
=��<����=��<�����<���0��<���	9��
0���
���	�
���?�������
���<��
�	
������ ����
���0��6
���0�=��<
�
�������������������<�=������
��0���
����
�����������<��6<��<����	�����6�����	��<�0��<����
��
��  ���0
����9����2��
0���� ��� ���6��9�<���6��0����9�0�� ����0���������	��<�0����� ���6����� �����	�
��

F�9�=��0��������	
��� ������
�	������	�����	��� �����	
��� ������
�	����� ������������������	���� ��	����������������	���

����	
��	�������������	�����
������������
����	
��	���

������ �
0�
��������������������	
�� !2�"
�������9�7� ���	�
����
,��6��92�, ����"
�������9�(�� ����2�, �
G�1�����2�(#�������, ���2
�������
$�	�����@�
�
H�� �<�

#������0�!���
�����2�����2����� ��0��
�������0����	�)�9���2�����

�������	�
��

&�����������<���
����������6�
���������������
�� ��
�
��	��
����6��9��)�0��
�� �0�	����6��������0�����
���
6�@���<��������� ��
��
6�����
���	����0��
����
���	�
�
�
��<��
�	
������ ����
���=��<��
���������� ����������
��	 ���0�=��<��<���IJ�����<����6�	�
�������
�	���
����
���	�0��
� ������
0��
<����<9�0�����9�<�
�������
������
�9�	����������
���+�����
�
��������	 ��
0���� �
�
��
��������<�����
�����	�
���������
����A��
0�����&������
�
����<����9�<���9���0�6��0����
� ��0������
0����
��	���9
���
0��
� ���	���������
��
������
����� �������		��K.�
&���<����
��
������
����<�6<��2��������������0�������<9 ���

�����
�
�	��2��
0��������?���0�����		��K.2�<9 ��
������

�
�	���������
�����9�����
����
0�	�
������0����A��
0����
" �
���9�<���9���0�6��0����
2�
�����
�
�����
��
A�6���

�0��
0��
����
���
�����	 ��?���=��<� ���	����
�	�

���
� ����
6��������<���������&
��<�������2��
0����<�������

������0�
��0� <�� <����6������
9�����
�������2���������
�
A�6���0� �
��� �<��=���������
��� ���	� �<��� �
����� 
���
0�������<�� ����
��� �
��������
� ��� 
����0���
�6��=���
�������
������������������

���	�
���
�0��
���2��
������������������ �����������
6����� ��
��	�0���9�����<��6<�0����
6�=��<�0������0�����
6�����������2��
��������0����=������0�����0�
���9�	�0����
�����
���
0�����
�����
��<���
6��	��6�0�������<�� ���
��=�9�����

���

���������
�����

�<�����09��
���0�0�0�����
����� ����
������6�����9
������0������
����������A��
0�������"
�������9�7� ����
	�
�����,��6��92�, ����"
�������9�(�� ��������	�5�
���9
�2����>��
����7���	
���>�2�������7�����
� ����
���6�
�
0���?2����������A��
0���2��9 ��������6����������	�
�2
�
0� ����
����
0��	 ����������4����������
��<��� �����
�����	���
0���	 �������
��=�����
��9@�0��7�����
��9�



��� ��������	��
������
���������������������

��������	
������� �����	�
������
�����������������

����=��� �����	�0��
���������
6��<��)���������$?�������
L�
0�=��-�����
����������=����B)������������ ������
2
",�D�

�
�����

7���
6��<���=��9�������09� ����02����� ����
����
�
0��=�
�����6��9������
����������A��
0�������� ����
����

���>��
0���� ����
����
��������<����=�������B����CD
=�	�
��
0����B>J��CD�	�
��!
������������������=��
	������		�
��
��<���������6��6��� 2���������B>I���CD
 ����
����&
��<��	�A����9�������09� ����
��2��<����������
�
������������������=�����
�
�6
����
����BJ��I�CD2�=<����
���	���6
�
��0�������=��� ���
0� �
� �<�� ����� B�����CD�
+�
�6
���������
���0�0�6������
���BJJ��JCD2����
�������
 � �����B����CD2� ����������
��<���0��<���B>���CD��
0
��������������?���<� �����0�����B����CD��/���
��00�������
��
�	��=����<�����0�
6�	���6
�
������������
���������
��������B>���CD2������=�0�
9�<� ������<���0��<���������

�	��B>����CD2� �
��������<��0������
�	��B��CD��
0
 � ��������-����������
�	��B����CD�B��
����D�

"�����#����������	������$������������%��	�&�%�
���������������'
����	���������	���	�������������	�����$	���������
�	���	
�����

'�	
����� �����
� )�������9 C
���4������� 
�	
��

����������� >I � ���
> >� � ��J
��� �� > ����
� > � ����
��J � � �����

!
����6����������	�
������
����������A��
0���2������
�������6������
�����
���
��=���� �����	�0�0� �
0�
6��

�<����������*����
���������� A��
0���������0�
9�
�
�6

�<�
6��2��<����9������	9��
0��<���0��<���	9�=��<��?�
�������
����
�����9���
���	�
���=����	����9� �����	�0�
�<����	��<�0��=�������0��
��J��JC����������0� ����
��2
=<�������<���0��<�0��0�
����
0�<� �����A�A�
���
�����
	����������0�
6����#�0
�9�,	��<�=���� �����	�0��
��<���
B>���CD� ����
����"
��4���
�����������������������0�
9

�
�6
������
�2� �����������
�����
���
��=�������0���������
�<����	�� ��
��	������0�
9�	���6
�
�������
�2���������
�
�
� ����� B>����CD2�#��?�<� �����A�A�
����	9� �
� �<���
B�J���CD2�<� �����A�A�
����	9������0�
6� ���+��=
� �

�<����B�J���CD� ����
��2��
0����
�<� �����0���
�6�������0�
�
6�������0�����
��
��B����CD� ����
���&
������B��CD� ��
���
��2��� <�����0��0�
� �
���������	9�=��� �����	�0

���������� �
������	���6
�
�9�

����� ������������������
��
����������������������
����
�
��0�
9�	�
9����4������������
������<�=��	�������9��
�
�������=��<�	���� ��� ���4����<�� �����=�
6� ���4� �������
=������
��0���0�� ����
���6��M��2� ����
������	���6�

�
��0������2�<�	��������������N>�C2����4��9������
�
M��2���2�������
�
��M����	6C2�
�����
�
�M���	6C2����

�	�
�N>��6K.��
0���4���
�� <�� <������M����&"�

����� ����������	 �������
���
���0�0�����0������
�
���	�
��� �
0� 
�����9�  �����
����� B�JCD2�  �
���������
B��CD2� ��
6� �	
����	� B��CD2� �?���
��� 
�����9� �������
B�CD2�<� �����
����
��������
�9�B�CD2����0����0���	 �
�
�����
� B�CD� �
0�0���
�6�� ��	 �������
�� B�CD���<���
��	 �������
�������=������
�����
��=��<���� �����������
���������� �����

�
�	���
��

�<���
����������A��
0�����9
0��	��������9���		�

�
0����E��
��9���E���������6����������	�
���&��� �����
��
���<����
������0�	�����<�
��=������
����<���IJ���
�<��	��
������
�������
�  �� ������0�����9�<�
�����
0
��	����<�������������4���*�B��	���2����2��������2�����9D��
L�	�
�����	���� ��
�����
�����9��������2��<����
������
��������������<�=������	���� �� �
0���
����&
��������09
 � ������
2��<����=���������C����=�	�
��
0�>J��IC���
	�
��<�=����2��<��������������������� ������
������=�	�
�
�����
��	�
����������
��������
6����	�
�����9����������
!������09� ����
���=�����6�0������2�	�0��
���2�=<��<
�����
�����
��=��<� �����������0�����!
���������� �������
�����0�
9�
�
�6
����
��������<��	������		�
���E������
6������
�����<�� ����
��6�����
�����9����������
0���<��

�
�6
������������
����������������������������� �
0�0
���������������� ����>��,�	��0������
����=�����
�����0
�
���������	���6
�
�9�����<������������
����������������
����&
����� ����
��6��� 2��
������������������=��������0

9���
��������<��6���
��00����
�>���C2����<� ����<���0��
�<����
�>����C2�����<��<��0���� �
�������
���C2��
0���
 � ��������-������
�����C�����������&
��<������������2���
�
��������<��6���
��00�������� ����0�����<������������
������
��������������
���C2�����<����		�
�<� �����0�����
���C2
����<���� ��0��0�
����<���0��<����
���C2��
0�����<�
���	�
���
6��<���0��<����
���C���C������������<��	���
���E��
�� ����0����� �
� ������
6�
�
�6
����������� �<�
�
��������
������<����9������	9��
0��<���0��<���	9�
(�=����2� �
0���� ��� B�� ������ ��D� ����0�����<���

���	�������	�������E��
��9����0������<���� ��
��	��
�������7� ���	�
�2��
����J�C�����<����9������	�����
0
��C�����<���0��<���	����=���� �����	�0�
9��� �������
 9���<�����0��
��6���<����
��
� ����0��
�	�
9����0�



��������	��
������
��������������������� ���

��������	
������� ������	�
������
�����������������

����2���*��
�����<���0�	�
������0��<����
0���� ���� <�
��
�������	9���� ������
���������������<���0��<���	9���<�
�=�� ����0�������������
���	
�
�02��
0��<������		�

�������������<��E�����9���� ����
����������
2�E�������0������
�
0�<�6<�E�����9�� �����
6��E�� 	�
����L���  ���0�
��<
 ����0������
��������0������<��	��<�0����#�0
�9�,	��<
<������ ������ ������
�������
6�
�
�6
�0�������������0

9�
�����9��
��������
�����<��6<������������9����02�6��0
�
0� ��
6����	�����������
�
���
���
�02�����<�=
��
��

�	
���������0���J2I���<�����������6����<	���
�������
6
	���6
�
������������
�����9��
��������
�0� �
0���
�����
��
�	��������@����
2�����0�	�
���
���
0��
���6�	�
�2��
0
�
��<�� ����
�O��6�
�������
0����
��&������
�������<��� ��?�
�	���9� ������0� �����
��=����<����	���� ���������� �
����
��
���
���<�
�0�������
����#�0����� ����0������� �����	�0
�
���C���� ����
���� �����0��
�����	���6
�
�9�����<�
	�00����
0�0�������<��0�����<���<���0��<��2�=<��<������
�
�����
��=��<��������������+9� ����� ������
���������0����9
����
� �
� ����������	�
�6�	�
�����	���6
�
��0�������
�����0�
9��
������������������
��������<�9�����������9
�
0���������
6���	���  ������<���9	 ��	�����A��
0���
�
�����
6��<��
��0������
��
����
�����?���
���0���
�6����
&
����������0��
��0���
��������<�� �
������<��02�
����0�
�6��������
����	���������
������<���<��� ������� ���
�
�����
����������������������  ���
6����
���	 ��
�����
�
,��
���	 ��
�����
���<������
�������<�������	��������
�
0���� �������0�=����	��
�0��9����������<�
���	�
�<�
�6��
���
����0�6��������
����	�����=<������
6���	��
�0�
��9� ��� �? ����0�����<�� ���6��
�O�0�����0�
��� ��� �
���
 ��� ��������
�����9�0���	 ������
�� &
� � ���� ��� ��=��
	�������92������������9�<�6<����������<���
6�����B��CD���
�<�������
�=<9��<���?����
6����6�������<�����0��
��� ���
���� ��� ��������
�����9�0���	 ������
����,��6��
���<��
�<��������<�	��<�0����66���� �����	�
6����6������
����
��
���
�=��<�
�J����0�9��������0���	 ������
�������
��

=��<��
������������������
���
6������<�6<����4�� ������

6��� ���<�9�����	����9���0���9� ����
���=��<���� �����
�
����<���0�	�6���
��<���9���	��������
��	�����������
�
A��
0�����
0�	���6
�
��0��������	�4�
6��<����������

	������	 ������0��+�����������<��2��<��� ������
����4�
������������0���	�
6�	�
9����0���2�	������6
�����
��=��
�<���
�� �����	�0�������
�������9�<�� ������
�*��
����2
=<��<� �
0��
��0�9�  ����0� �<�� �?����
6� ���4� ��������
�<�������4���������=�������0��
��������092��
0��<�������
���
���
���
�0�
��=��
��<�����4����������
0� ���� ����
�����	�������9������<�=
��
���
�����

���	���
��

��0�92��<��
�	
������ ����
���� �����0��
������
�
����������������������=����0��<���� �����0��
������<����	�
�����
��
��<���IJ����*�	���� ��0�	�
�
������ �������
�
62�9����<�=�
6���0����
����<���9	 ��	������
������
�������������	������		�
�9��������
��<���������6��6��� 2
�
0�J�C�������������������0�
9�
�
�6
�0���������<����
�9������	92��<���0��<���	9��
0�����������?�������
����
�<��	�������E��
��	��<�0����������	�
�2�	����9� ���
���	�0�
9��� ������ 9���<�������	��������6�����������
	�
��0� �
0���
� �<�� ���4� �������� �<��� ����������=��<
 ���� ��������	��
�0��9��
0�	�������9�

�
�
�
�	
�

�� F�..�&�.��&4�������&
��8$#�$#��2��0��)�0���
�4���
��4���
 �0�A�2�-����>��3�6��
��5.32��I�J�>������

�� +��$,!'�+���/���
��00���0��������
0��<����9������	9������
�����
0� �
0�
��9������
����.�
�����IJ��������

>� !O'$&..��52�/&..&$,�7)2�/�'&�5,��( ������		�
�
���
0�������
�����������=����	�
�6�	�
��� ���
��������'�3�5�,��6
���������>���

�� #(!7$,�)2�,",,)�'�.2��!($'�.��#�
0�	���0���������
�� ������ ����? �������
������		�
�
����0����������� ����
� ���������
0���� ��������6��0���<���
6��6�� <9�������		�


����0�������
����.�
�����IIJ�>�����I�

�� ,"��+2�$,����52��($#P"&�7��,��6��9�����
0���� 9���
 ��	��9������	�
���
��9	 ��	����� ����
���=��<���� ����0
��		�
�
����0�������
������	������
������
0�	���0�����������<
,��6��IIJ��>>�����

�� *!#'�#!�#��!
����������A��
0���������0�
9�����0�����
0K��
�������
���<���0��<��� ���<��������
0���� ����
0����6����
�����	�
����<���&�����II>����������

�� 7����".���#��.� ������ ���	�
�6�	�
������<���0��<����
�<�������,��6�$
0�����II��J��>II���>�

J� F�'7&.!#!,�/2�)�#F�'�!'&,�.,��#�0
�9�,	��<
���<
����������9�<�6<����������������<��<� �����0�����&
��,��6
�I������������

"�����(����������%�������
�	���	
�����

+�
�6
������������
����������������� C�J

/������
�� JJ��J
,��
�������� � ���� ������
�����������
��<���0��<�� ��>���
,�������������?���<� �����0���� ������
)���6
�
�������������
�����������������

/���
��00��������
�	� >����
(� ����<�����0��<��������
�	� �����
��
��������<��0������
�	� �����
�� ��������-����������
�	� ������



��� ��������	��
������
���������������������

��������	
������� �����	�
������
�����������������

,�Q���4

'�8��&,F",�-��"�.&5$R$'5"�!�,�#"F�&5,F!/�&F�$#",�

��������	
��������&������)����	
������������	
��*��+�	
��+����&	
��!��,��	
���-��"�	�&��	


���A���0��
���A���� �������G������������@��4��� ����4��A�4�6��4�������4�0�
����
�4��4�A���������@0�
�A���0����>��0�������
6�0�
��� �����
����F��
����@��4����6�A��F��
�G4��
��
����, �����"@�
���0�
���
���@�������	��0�
���� ���
����
�4�2������
 ��	�A�
A�
�6�4����S4�6���A�G�
A�2���� ����A�
A������A���A�G�	
�
�4����@�4��
����<�0�4����S4�6���A�G�
A���"�0��6�0�S
A�	���@0�
�A�
������ �4���
������
���@���
�� �0��������
����
�4��4�A�����@
�6�� ����4��A�4�6��4���������A�G�
����F��
����@��4����6�A��F+�, ����
! ����4��A�4��Q������A��
������4�A�� ����Q����@�<��1��Q�
�4�� � �����A��B��2�C�
����
�4�D������
�AG�S1����0�
���0����0����
6�0�
��B��C�
����
�4�D��F�������A�@����4���0�4�����A�@�	���0��A��A��
�AG�S1���@��4�� ����4��A�4��Q�������,�4��0
��
���0�
�	2

�AG�S1���@��T�
��@�<��������A�G�
A��� ����4��A�4��Q������A��4��������4��	�A����4���0�4���	�A�	����4����4��A�	�4�
4��	�
��
����
�@���6���+��A�
����
�4��4�A�	�����0�A�6
���������� ����4��A�4���4������ �4�@�A��@
�G�A�
� �������&�4�������1�0�6��
�@�6�0�
�
����A�G�
A�� ��	A�
A�A�������4����S4��	���0�2��
0��4� �4��B�� ����4� �4�D�4����6�A�� ���� 
�������4�A��4����G
���
��4�
4����S4�6���A�G�
A��

F�A�G
����A�G���.��	
���������&
	/�&�����	/������	&���.��	
���������&
	/�&��������	/���0������1������	����	/���0������1����&����	&�
	/���0	����	/�
��������2�3��������&����	&�
	/�

��I� '�F$$+��2��&���(�2�,!('������<���
6�������
�	����
� �����	�����
���<� ����2� ���<������
0�0��������	������

�,��6
�II��������>�

��� +&,)"�(�(2���,��&'/�72��#�:'!#�!��#�������
���
 ��������
�� ������9�������6��9��
��<�������	�
�����<�������
����
L���0�5�,��6��IJJ����>I����

��� -�
�7�
�+!,�(�#���/��0���
��������<���  �������
�������6��9
�
0��
0� ����<������
��<�� ��������
�����
����������A��
0�����

�0��
��0���
��������<�� �
��������

�,��6��II����I��J����

��� :�'�/&,�L��5���<�����������<�� ��� ��������
�����9�0���	�
 ������
��
��<�������	�
�����
����0������
�����L���0�5�,��6
�IJJ����>>�J�


